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odule proje(clock,reset,out25ms,out,outch,outend,LED,Dout);
input clock,reset;

output out25ms;

output out,outch,outend,Dout;

output [6:0]LED;

wire k;

wire [7:0] g;

wire [7:0] SW;

mode555 U1( .clock(clock),
.reset(reset),

.OUT(k)

);

mode225 U2( .clock(k),
.reset(reset),
-g(a),

.OUT(out25ms)

);

model5 U3 ( .clk(k),
.reset(reset),

.Q(SW)

);

cmp U4 (.W(SW),
X(q),

.OUT(out)

);

decoder3x8 U5 ( .clock(out),
.reset(reset),

.DEOUT(outch)

);

result U6 ( .x(out),
.y(outch),

.OUT(outend)

);

Mn U7 ( .F50M(clock),
.reset(reset),
.Dout(Dout),

.LED(LED)

);

endmodule
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module mode555(clock,reset,OUT);
input clock,reset;
output OUT;
reg OUT;
reg [9:0]q;
always@(negedge reset,posedge clock)
begin

OUT = q[9];

if(!reset);

else if (g==10'd554) gq<=0;

else q<=qg+1;

end
endmodule
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module mode225(clock,reset,q,0UT);
input clock,reset;
output [7:0]q;
reg [7:0]q;
output OUT;
reg OUT;
always@(negedge reset,posedge clock)
begin

OUT =q[7];

if(!reset);

else if (q==8'd224) q<=0;

else q<=qg+1;

end
endmodule
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module mode15(clk,reset,Q);
input clk,reset;

output [7:0]Q;

reg [7:0]Q;

reg [9:0]q;

always@(negedge reset,posedge clk)

begin
if (reset==0) g<=9'd0;
else
if(g==10'd999) q<=9'd0;
else g<=g+1;
end
always@(negedge reset,posedge q[9])
begin
if (reset==0) Q<=8'd0;
else
if(Q==8'd180) Q<=8'd0;
else Q<=Q+1;
end

endmodule



g gL L e ot e TR R AR R kT R

module cmp(W,X,0UT);

input [7:0]W;
input [7:0]X;
output OUT;
reg OUT;
reg [7:0]W1;
always@ (W, X)
begin
W1 = {W}+8'd45;
if(W1>X) OUT=1;
else OUT=0;
end
endmodule
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module decoder3x8(clock,reset, DEOUT);
input clock,reset;

output [7:0]DEOUT;

reg [7:0]DEOUT;

reg [2:0] q;

always@ (negedge reset,posedge clock)
begin
if(!reset) g<=0;
else q<=qg+1;
end

always@(q)
begin
case(q)
3'd0 : DEOUT = 8'b00000001;
3'd1 : DEOUT = 8'b00000010;
3'd2 : DEOUT = 8'b00000100;
3'd3 : DEOUT = 8'b00001000;
3'd4 : DEOUT = 8'b00010000;
3'd5 : DEOUT = 8'b00100000;
3'd6 : DEOUT = 8'b01000000;
default : DEOUT=8'b10000000;
endcase
end
endmodule
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module result (x,y,OUT);

input x;

input [7:0]y;

output OUT;

reg OUT;

always@(x,y)

begin
if (y[0]==1&&x==1) OUT=1;
else OUT=0;

end

endmodule
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module Mn(F50M,reset,Dout,LED);
input F50M, reset;

output Dout;

reg Dout;

output [6:0]LED;

reg [6:0]LED;

reg [7:0]Do;
reg [7:0]Re;
reg [7:0]Mi;
reg [7:0]Fa;
reg [6:0]So;
reg [6:0]La;
reg [6:0]Si;

reg [6:0]Do2;
reg [6:0]Re2;
reg [6:0]Mi2;
reg [6:0]Fa2;
reg [5:0]So2;
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reg [5:0]La2;

reg[9:0]p;
reg F4Hz;
reg FS50KHz;
reg [7:0]w;
reg [23:0]Q;

always@(negedge reset,posedge F50M)
begin
FS0KHz=p[9];
if (reset==0) p<=0;
else if (p==10'd999) p<=0;
else p<=p+1;
end

always@(posedge F50KHz,negedge reset)
begin
if (reset==0) Do<=0;
else if (Do==8'd190)Do<=0;
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else Do<=Do+1;
end

always@(posedge F50KHz,negedge reset)
begin
if (reset==0) Re<=0;
else if (Re==8'd169)Re<=0;
else Re<=Re+1;
end

always@(posedge F50KHz,negedge reset)
begin
if (reset==0) Mi<=0;
else if (Mi==8'd151)Mi<=0;
else Mi<=Mi+1;
end

always@(posedge F50KHz,negedge reset)
begin
if (reset==0) Fa<=0;
else if (Fa==8'd142)Fa<=0;
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else Fa<=Fa+1;
end

always@(posedge F50KHz,negedge reset)
begin
if (reset==0) So<=0;
else if (So==7'd127)So<=0;
else So<=So+1;
end

always@(posedge F50KHz,negedge reset)
begin
if (reset==0) La<=0;
else if (La==7'd113)La<=0;
else La<=La+1;
end

always@(posedge F50KHz,negedge reset)
begin
if (reset==0) Si<=0;
else if (Si==7'd100)Si<=0;
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else Si<=Si+1;
end

always@(posedge F50KHz,negedge reset)
begin
if (reset==0) D02<=0;
else if (Do02==7'd95)Do02<=0;
else Do2<=D02+1;
end

always@(posedge F50KHz,negedge reset)
begin
if (reset==0) Re2<=0;
else if (Re2==7'd84)Re2<=0;
else Re2<=Re2+1;
end

always@(posedge F50KHz,negedge reset)
begin
if (reset==0) Mi2<=0;
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else if (Mi2==7'd75)Mi2<=0;
else Mi2<=Mi2+1;
end

always@ (posedge F50KHz,negedge reset)
begin
if (reset==0) Fa2<=0;
else if (Fa2==7'd71)Fa2<=0;
else Fa2<=Fa2+1;
end

always@(posedge F50KHz,negedge reset)
begin
if (reset==0) S02<=0;
else if (S02==6'd63)S02<=0;
else S02<=S02+1;
end

always@(posedge F50KHz,negedge reset)
begin
if (reset==0) La2<=0;
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else if (La2==6'd56)La2<=0;
else La2<=La2+1;
end

always@(negedge reset,posedge F50M)
begin
F4Hz=Q[23];
if (reset==0) Q<=0;
else if (Q==24'd12499999) Q<=0;
else Q<=Q+1;
end

always@(posedge F4Hz,negedge reset)
begin
if (reset==0) w<=0;
else if (w==7'd88)w<=0;
else w<=w+1;
end

always@(w)
begin
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9'dl:
9'd2:
9'd3:
9'd4 :
9'd5:
9'd6 :
9'd7:
9'd8 :
9'd9 :

9'd10:
9'd11:
9'd12:
9'd13:
9'd14 :
9'd15 :
9'd16 :
9'd17 :
9'd18 :
9'd19 :

case(w)

Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=

Do2

[6]
[6]

[6]
[6]
[6]
[6]

[6]

[7]

[6]
[6]
[6]
[6]
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9'd20 :
9'd21:
9'd22:
9'd23:
9'd24 :
9'd25 :
9'd26 :
9'd27 :
9'd28:
9'd29:
9'd30:
9'd31:
9'd32:
9'd33:
9'd34 :
9'd35 :
9'd36:
9'd37 :
9'd38:
9'd39:

Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=

[6]

[7]
[7]
[7]

[7]
[7]
[6]
[6]

[7]
[6]

[6]
[6]
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9'd40 :
9'd41 :
9'd42 :
9'd43 :
9'd44 :
9'd45 :
9'd46 :
9'd47 :
9'd48 :
9'd49 :
9'd50 :
9'd51 :
9'd52 :
9'd53 :
9'd54 :
9'd55 :
9'd56 :
9'd57 :
9'd58 :
9'd59 :
9'd60 :

Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=

Si
Fa
Si
Si

o

La
Si

Do2
Si

Do2
Mi2

Si

Mi
Mi

[6]
[7]
[6]
[6]

[6]
[6]

[6]
[6]
[6]
[6]

[6]

[7]
[7]
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9'd61l :
9'd62 :
9'd63 :
9'd64 :
9'd65 :
9'd66 :
9'd67 :
9'd68 :
9'd69 :
9'd70 :
9'd71 :
9'd72 :
9'd73 :
9'd74 :
9'd75 :
9'd76 :
9'd77 :
9'd78 :
9'd79 :
9'd80 :
9'd81 :

Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=
Dout=

La
So
La
Do2

Do2
Si
Do2

Re2
Mi2
Do2

o O O

[6]
[6]
[6]
[6]

[6]

[7]

[7]
[6]
[6]
[6]

[6]
[6]
[6]
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9'd82 :
: Dout=
9'd84 :
9'd85 :
9'd86 :
9'd87 :
9'd88 :

9'd83

Dout=

Dout=
Dout=
Dout=
Dout=
Dout=

Do2
Si
La
Si
So
0

La

default : Dout= O

endcase

end

always@(w)

begin

case(w)

9'd0 :
9'dl:
9'd2 :
9'd3:
9'd4 :
9'd5:

LED=7'b1111111;
LED=7'b0011101;
LED=7'b1111010;
LED=7'b1110111;
LED=7'b1101110;
LED=7'b1011111;

[6]
[6]
[6]
[6]
[6]

[6]
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9'd6 :
9'd7 :
9'd8 :
9'd9 :

9'd10:
9'd11:
9'd12:
9'd13:
9'd14 :
9'd15 :
9'd16:
9'd17 :
9'd18 :
9'd19 :
9'd20:
9'd21:
9'd22:
9'd23:
9'd24 .
9'd25 :
9'd26 :

LED=7'b0000001;
LED=7'b1111110;
LED=7'b0110001;
LED=7'b0111101;
LED=7'b0110111;
LED=7'b1011101;
LED=7'b0110010;
LED=7'b1100111;
LED=7'b0111100;
LED=7'b1101110;
LED=7'b0111101;
LED=7'b1111111;
LED=7'b0100100;
LED=7'b1110001;
LED=7'b0100011;
LED=7'b1111000;
LED=7'b0101101;
LED=7'b0101000;
LED=7'b1011001;
LED=7'b0111111;
LED=7'b1010110;
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9'd27 :
9'd28:
9'd29:
9'd30:
9'd31:
9'd32:
9'd33:
9'd34 :
9'd35:
9'd36:
9'd37:
9'd38:
9'd39:
9'd40 :
9'd41 :
9'd42 :
9'd43 :
9'd44 .
9'd45 :
9'd46 :
9'd47 :

LED=7'b1000110;
LED=7'b1100001;
LED=7'b0100100;
LED=7'b1101101;
LED=7'b0111000;
LED=7'b1101011;
LED=7'b0101000;
LED=7'b1111011;
LED=7'b0101000;
LED=7'b0111101;
LED=7'b1101000;
LED=7'b0100001;
LED=7'b1100000;
LED=7'b0101001;
LED=7'b1000100;
LED=7'b0101001;
LED=7'b1101100;
LED=7'b0010101;
LED=7'b1101001;
LED=7'b0101100;
LED=7'b0111001;
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9'd48 :
9'd49 :
9'd50 :
9'd51 :
9'd52 :
9'd53:
9'd54 :
9'd55 :
9'd56 :
9'd57 :
9'd58 :
9'd59 :
9'd60 :
9'd61l :
9'd62 :
9'd63:
9'd64 :
9'd65 :
9'd66 :
9'd67 :
9'd68 :

LED=7'b1101001;
LED=7'b0101100;
LED=7'b0010001;
LED=7'b1100101;
LED=7'b0101001;
LED=7'b1000001;
LED=7'b0101001;
LED=7'b1100000;
LED=7'b0101001;
LED=7'b1111001;
LED=7'b0101101;
LED=7'b1100011;
LED=7'b0101001;
LED=7'b1000010;
LED=7'b0101101;
LED=7'b1101001;
LED=7'b0110001;
LED=7'b1101101;
LED=7'b0101001;
LED=7'b1010100;
LED=7'b0101001;
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9'd69 :
9'd70 :
9'd71:
9'd72 :
9'd73:
9'd74 :
9'd75 :
9'd76 :
9'd77 :
9'd78 :
9'd79 :
9'd80 :

LED=7'b1101001;
LED=7'b1101101;
LED=7'b0101001;
LED=7'b1110001;
LED=7'b0101101;
LED=7'0b0110001;
LED=7'b1101001;
LED=7'b1010101;
LED=7'b1011010;
LED=7'b0101000;
LED=7'b1011111;
LED=7'b0000111;



9'd81 : LED=7'01010100;
9'd82 : LED=7'b1111111;
9'd83 : LED=7'b0000001;
9'd84 : LED=7'b0111101;
9'd85 : LED=7'b1111100;
9'd86 : LED=7'b1101110;
9'd87 : LED=7'01010010;
9'd88 : LED=7'b1011010;
default LED<=7"'bxxxxxxXx;
endcase

+ end

+ endmodule

+ + + + + + + + + +
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